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DO x®-x-6=(x-3)(x+2)

@ x-4=(x+2)(x-2)

@ - -2x=x(x+1)(x-2)
@ 18x% —2x = 2x(3x— 1) (3x + 1)

® 3x2+6x+3=0Bx+1)(x+2)
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@ 3x ® xy @ 2xy ® 2x2

D 2x
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AL AL

a(3x —2y) + b(2y — 3x)

@ a(x—2y) - 3b(x-2y) @ x(a+b) +y(a+b)
® a(2x - 3y) — b(3y — 2x) @ a(x-y)+bly-x)

® 2x(a-2b) - 3y(2b - a)



4.  4x*-5xy—6y* & (ax+by)(cx+dy) BZE 50592 ™, ac—bd
o] gh2?

@D 10 @ 15 3 20 @ 26 3B 28
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5. 2x2+5x-12= (2x+a)(x+b)
b)x +ab & Aol fF 227

WEShE a, b ol thste] x* + (a+

O (x-3)(x—-4) @ (x+3)(x+4) ® (x-6)(x+2)
@ (x-3)(x+4) ® (x-2)(x+6)
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O|Z}FA] ex? — 13x—20
A, a+b+c 9 G2
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6.

@ 17 ® 18 @ 21 ® 22

@D 16



7. —6x>4+ax—127}2x+3 02 Yirojdojd o 4 o] ghS 151H?

D =17 ® -1 3 1 @ 13 B 17



AZFA 5x — 2 7F t}akA] 15x2 4+ 1dx + A 9] Q154 o, 4 9] 32
“FobH?

@ -8 @ - ® -2 @ 12 ® 27



@ 3 B 4
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10. x®-2xy+y*-5x+5y+4 &5 A5EolctH?

O (x-y-4)(x—y-1) @ (x-y+4)(x-y+1)
® (x4+y+4) (x+y+1) @ (x+y-4)(x+y-1)

® (x-y-4)(x-2y-1)



11. a®2+2ab+ b2 —a-bE ASFEF|SHH?

@ (a+b)a+b+1) @ (a-b)a+b-1)
® (a-b)(a-b-2) @ (a+b)(a+b-1)

® (a+b)a+b-2)



12, T A 2+ (<24 9= (y-1)(+2)  D5Ralstel U a4
SERSEEH

@ 2x-2y+3 @ 2x-2y+1 ® 2x-3y+3

@ 2x-y+3 ® x-2y+3



